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BEANTRE t |[184.92 |177.58 [158.31 |118.70 [184.32 | 142.34 [179.10 [ 124.74 | 158.40 [136.46 |103.19 (11547 | 1,783.53
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ABM X IR A5 15
WU KR E#E R

REGE | AERHE exwEs| 45 |SA[6A | 7A|8A | 9A [10A[11A]|12A| 1A [2A | 38

SNEEIE - - mesy| mess| mesn| mesn| resy| Resy| Resy | Redn| meEn| Redn| ReE | ReEY
7Kim - - 13.6 [14.6 [18.3 [21.0 [24.5 [25.0 |21.8 |20.9 |15.0 |12.0 |14.7 | 10.5
KGEEHEK  |owonoe]ommnrs] 0] 0 0] 0[O0 0]O[O0O]O]O[]O0] O
PH ssplkesplTlesuitesusl 7.2 | 74 (72 | 71 (71 |71 (70 |70 (70 |74 |71 |72
BOD 60mg/0] 10mg/0] 1.0 | 0.7 | <0.5[<05| 06 | 0.7 | 09 [ 0.7 | 0.5 [ 0.5 | <0.5( 3.0
COD 90mg/0] 10mg/0} 6.7 | 3.1 | 60 | 69 |150[95 |96 [ 33 |45 (64 | 80 | 86
SS 60mg/0]10mg/0f <1 | <1 | <1 1 1 1 1 <1 | <1 5 1 1
ZEXREA=E  |120mg/0]120mg/0} 18 | 16 | 12 | 15| 22 | 25 |24 |25 [ 31 |24 [ 29 | 31
sy LRUEOEEW]0.03mg/Q]0.03mg/2] — - - [<o.003f - - - - - - - -
SMRUEDIEEM]0.1mg/2]0.1mg/Q] - - - [<0.01] - - - - - - - -
o i ocosme/efooosmere] — [ = | = fooos] - [ - -T-1T-1T-1-171-
s | Smg/Q | dmg/Q | - - - [<05] - - - - - - - -
prennermimnaans | 30mg/Q | 30mg/2| - - - [ 05| - - - - - - - -
Jx/— )L 5mg/Q2 | Smg/2 | - - - [ 05| - - - - - - - -
HeEE 3mg/Q2 | 3mg/2 | - - - [0.02[ - - - - - - - -
FpamE | 2meg]2mege| - | - [ - Joo3| - | - | - [ -] -[-| -] -
AR IEEX 10mg/2)1Omg/e] - | - | - fou8| - | - | - [ - -] -] -1|-+-
BT | 10me/2) 10mg/2| - - - [047| - - - - - - - -
HOLEHE | 2mg/Q|2mg/o] - | - | - [<002] - | - | - | - | -] -] - | -
TALEY |orimen]sriimen] - - - [<01| - - - - - - - -
aumeam| tmg2 | tmge| - | - [ - <01 - | -] -[-]-]-|-1]-
Ao LEE®|0.5mg/2]0.5mg/2] - - - 1€0.05| - - - - - - - -
VHERUZOEEW]0.1mg/2]0.1mg/Q] - - - [0.01] - - - - - - - -
FILXILIKER |peensoce]susnmnce] - - - |FrH| - - - - - - - -
BRK |RUEIEETT=L]0003me/0f0003me/e] ~ | - | - |coo00s| - [ - | - | - | - | - | - | -
r)oooxzFL2|0.1mg/2]0.1mg/2] - - - |K0.01f - - - - - - - -
Tr3oaaTFL2|0.1mg/2]0.1mg/2] - - - [K0.01| - - - - - - - -
2ya0x3> 102mg/Qf02mg/e] - | - | - [<002] - | - | - | - | - | - | - | -
migibm=E  |0.02mg/2joo2me/e] - - - |<oo002| - - - - - - - -
1, 2-290014210.04mg/2]0.04mg/2] — - - |<0.004] - - - - - - - -
1, 1-vyonzFry] 1mg/Q | 1mg/2 | - - - [<0.02 - - - - - - - -
>2-1, 2-vonnzFLy 10.4mg/2]0.4mg/Q| - - - |0.04| - - - - - - - -
1.1, 1-~ysanzsr | 3mg/Q | 3mg/2 | - - - [<03| - - - - - - - -
1,1, 2-+yynnxs> 10.06mg/2]0.06mg/2] - - - [<0.006] - - - - - - - -
1,8-290070<>10.02mg/2]0.02mg/2] — - - [<o002] - - - - - - - -
F5 ., 006meg/ef006mg/e] - | - | - fwo00| - | - | - | - | -| - - -
ROV 003mg/0f0.03mg/e] - | - | - [<0003] - [ - | - | - | -] -] - | -
FAARAILT|0.2mg/2]0.2me/2| - - - [<0.02| - - - - - - - -
oty 0.1mg/2]0.1mg/Q| - - - [0.01] - - - - - - - -
Lo RUZOEEM]0.1mg/2]0.1mg/2] - - - [<0.01| - - - - - - - -
JvERUzotiEaw | 15mg/Q) 15mg/2] - - - 0.2 - - - - - - - -
roxrRUZOMIEEN| 50mg/2| 50mg/2] - - - [047| - - - - - - - -
1, 4-OA%45210.5mg/2|0.5mg/Q| - - - [<0.05] - - - - - - - -
BERE 16mg/0f16mg/0] - | - | - Jo04| - | - | - | - | - | -] - -
Liaw | awte |anm| | _ | _ 2(? ? I Y N I I A A

?‘ég?’ig%%&l’ 200mg/2]200mg/2 5
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e AEL ERnE |ETERE] 48 [ oA [6A [ 7A [8A [ O8 [TOA[T1AI2AI 1A [ 2R [ 31
128 H - - - - - |mesn| - - - - - - - -
7k:E (°C) - - ~ | = | - [188] - | = | = - | =1 =1 =1 -
BRUREE (us/cm) - - 0.60 [ 0.60 | 0.60 | 0.59 [0.60 | 0.60 | 0.62 [ 0.65 | 0.66 | 0.65 [ 0.67 | 0.69
FILEILKE |mtenooce|mmanance] - = — [x&m| - - = - — — — -
&K 0.0005mg/2]0.0005mg/Q] - - — [<00005] - - = = - - - _
ARSI L 0.003mg/2] 0.003mg/2| - — — [<o0003[ - - = = - - — —
R 0.01mg/¢ | 00Tmg/2 | - - - [<0001] - - = - - = = =
ANmyoL 0.05mg/2 | 0.05mg/2 | - - - [<0.005] - - - = - - = =
3 001mg/¢ | 001me/2 | - | - | - |<0001] - | = | = | =1 - | - | = | -
2T BEEnGUCL| BEEAGLCE| - = I STy - - - — — — —
RUEIEED= L pEznauce|guznmnce| - = N PR — - - - - - - —
~)7aaITFL | 001mg/2 | 0.01mg/Q - - - [<o0.001] - - = = = = = =
Th>7a8TFL2]| 0.01mg/2 | 0.01mg/Q - - - |<o001] - - - - - - - -
PYIE=EE % 0.02mg/2 | 0.02mg/2 | - - - [<0002] - - - - - - - -
R A 0.002mg/2 ] 0.002mg/2| - - — [<00002] - - - - - - - -

i e 1, 2-o400x422] 0.004mg/Q | 0.004mg/Q| - - - |<o.0004] - - - - = = = =

{J&zgﬁtﬁ,ﬁ Mri=zeez7eo| 0dme/e | 0dme/e | = | = | = |<0002] = | = | = | = | = | = | = | -

" 2=ranTzFo] 0.04meg/e [ 00dmg/2 | - | - | - [<0004] - | - | - | - | - [ - | - [ -

LA-1, 2-UHOATFLY - - - - - |<0.004] - - - - - — — _

1,1, 1-~ysnazse | 1mg/Q 1mg/4 - - - | <01] - - - - - - - -

1,1, 2-bysanzsr | 0.006mg/2 | 0.006mg/Q| - - — |<o.0006| - - - - - - = =

1, 3-240070x2] 0.002mg/2 | 0.002mg/2| - - - [<00002] - - - - = = = =

F 5L 0.006mg/2] 0.006mg/2| - - — [<o0008] - = = = - - - -

ROV 0.003mg/2] 0.003mg/2| - - — [<ooo03] - = = = = = = =

FARUAILT | 0.02meg/2 | 0.02mg/2 | - - - [<0002] - - - - - - = =

"ot 0.01mg/2 | 0.01mg/Q - - - [<0.001] - - = = = = = =

L 0.01mg/Q2 | 0.01mg/Q - - - |<oo001| - - - - - = = -

Ao% - = “ [ = - [<01] = | = | = | = | = = - | -

Fo% - - - - - [<0.02] - = - - - - - -

HEBEERRUVEHRBEESR - - - - - 0.20 — - — - — — — —

1, 4= FH 2] 0.05mg/Q | 0.05mg/¢ - - - |<0.005| - - - - - - - -

sice=re/7—aazzi) | 0.002mg/2 | 0.002mg/2] - - - [<00002] - - - - - - - -

(@< 7 B LGH TR R (me/0) - - - - - 27 —_ —_ - - - _ _ _

B H — — - [7A38] - - - - - - - -

SHTH - - -~ [sRsA| - - - - - - - -
T - A FRRE |OXEEIE] 48 |68 | 6H | /A [8A | OB [TOR11A128[ 1A | 28 | 3A]

H - - - - - |mesn| - - - - - - - -

7Kg (°C) - - - - - [137] - - - - - - - -

EXIEBE (us/cm) - - 0.27 1 0.27 [0.27 [ 0.27 |0.27 | 0.26 | 0.26 [ 0.25 [ 0.24 | 0.23 | 0.23 | 0.21

ZILEXILKER |wesnsuce|mesnance] - - — [Fmm| - - - - - - - -

TRIKER 0.0005mg/2]0.0005mg/2] - - - [<o0005] - - = = = = = =

NP 0.003mg/2 | 0.003mg/2] - = — |<00003] — = = = = = = =

i 0.01mg/0 | 00Tmg/2 | - - — [<0001] - - — — = - = =

R GI=EN 0.05mg/¢ | 0.05mg/2 | - - - |<0.005] - - = = = = = =

[E3 001mg/2 | 00tme/e | - | = | - [<0001] - | = | = | = | - | - | - | -

EITY mEEhaLC | REsnBLCE| - = = 7@ - - - — - - - -

RUEBIEED = )L REEntoce| gtisnmnce| - - - |[Fmd] - - - = = = = -

rJ)ooaTFL] 001meg/e | 001mg/2 | - - - [<0001] - = = = = = = =

Tr>7a8TFL2] 0.01mg/2 | 0.01mg/Q - - - |<o001] - - - - - - - -

ooaniay 0.02mg/2 | 0.02mg/2 | - - - [<0002] - = - - = = = -

miEERE 0.002mg/0 | 0.002mg/2| - - — [<o0007] — = - - = = - -

Y LE 2->ya0xs2 | 0.004mg/2 | 0.004mg/2| - - - |<o.0004] - - - - = = - -

*@"f\{;&i.ﬁ Mr=zomz7oo 0dme/ | 0dme/t | = | = | - |<0002] = | = | = | = | = | = | - | -

A AR H e sranzFro] 0.04mg/e | 00dmg/e | - | - | - (<0004 - | - | - | - | - [ - [ - [ -

-1, 2-Y/A0IFLY - — — — — <0.004 - — — — — — — —

1,1, 1-tysnazss | 1mg/Q 1mg/Q - - - [<01] - - - - - - - =

1,1, 2-fyyooxs | 0.006mg/2 | 0.006mg/2] - - - [<0.0006] - - - - - - = =

1, 3-Uynn7nxy| 0.002mg/2 ] 0.002mg/2| - - - |[<00002] - — — — - - _ _

FIIL 0.006mg/2 | 0.006mg/2] - - — |<o0008] - = - - = = - -

PP 0.003mg/2 | 0.003mg/2| - - — [<0.0003] - = = = - - _ _

FARLAILT | 002mg/2 | 0.02mg/e | - — - [<0002] - - - = = - - =

oty 0.01mg/2 | 001mg/2 | - - - [<o001] - = - - = = = -

L 0.01mg/2 | 0.01mg/Q - - - [<0.001] - = = = = = = =

Aok - = “ | =] = [<00] = | =] = -1 =1 =1 -=1-=

[EBES - - - - - 0.26 - - - - - - - -

|HEBEERRRUEMBERR - - - - - 1.7 - - - - - - - -

1, 4-oAFH 2] 0.05mg/2 | 0.05mg/Q - - - [<0.005] - = = = = = = =

e =L E/T—(HRATFLY) 0.002mg/Q 0.002mg/9. - - - <0.0002 - - — — — — — —

B> 7B LEE e/ ) - - - - - 20 - - - - — —_ — —

= = — |7H38| - - - - - - - -

- - — [sA3E| - - - - - - - -

R BN ME |Ex =28 4H |68 |68 1 7H 1 8H [ 9F [TOB|11A12A] 1B 1 2H ] 31

S A4 ¥ % (pg-TEQ/L) 10 10 - - - - - - — loooo12]| - - - -

E=RYLTER 55 ERED) | X A4 F2 25 (pe-TEQ/L) 1 1 - - - - - - — 0.00031 — — — —

E=HYLTEVR RSB TRED | A4 ¥ 2 88 (pe-TEQ/L) 1 1 - - - - — — — 0.000089 — — — —

#‘;'E'S( H - - - - - - = |1AA| - - — —

ﬁ\*ﬁ-a - - - - - - - 12228 - - - -
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A B X xR0 15
B R B INSB B K Bl R e -
REURRT | BelaH |#mmliE|eze=s] 48 |68 64| 78 | 8H | OH [10B[11B[12A[ 1A 24| 38
5\ & B FE - - - - |mesn|mesn| - - |messm| - - - |messm| -
KR - - - | - 160170 - [ - (197 - | - | - [115] -
KIGE B assooomu /o] Bessovomur/ens|  — - 0.0 0 — — 0 - - _ 0 _
PH 581 86 Fl6 5Ll E8SUT| — - 7.6 7.6 - - 7.6 - - - 75 -
BOD 60mg/0] 10mg/0] - - 120 1|20 - - 16.0 - - - 3.1 -
COD 90mg/0] 10mg/0] - - 143 | 43 - - 54 - - - 175 -
SS 60mg/0] 10mg/0] - - 110 2 - - 2 - - - 2 -
EXxaHA=  |120mg/0f120mg/0] - - 129 133 | - - (82| - - - | 17 -
HEELRUZOLEEY 10.03mg/2]0.03mg/Q] - - - |<0.003] - - - - - - - -
SBRUZDIEEW]0.1mg/2]0.1mg/2] - - - [<0.01| - - - - - - - -
;ﬁg?gégi& 000smg/efooosmge] - | - | - [cwooos| - | - - | - | - - - -
e aanaan | Smg/Q | Smg/Q ] - - - | 05| - - - - - - - -
ron~ermwomanne | 30mg/Q]30mg/e] - | - | - <05 - [ - [ -1 - -1T-1-1-
Jx/—)L$E | 5mg/2]bmg/2] - | - | - |05 - [ - (- | -] -] -] -1|-
HEFE 3mg/0f3mg/e] - [ -] - [o02] - [T -1 -T-T-1T-T1-1-
Hhahe |ome/t|omg/t| - | - [ - Joo2] - [ - [ -[-[-1-1-1-
BRI EX 10mg/2l1Omg/e] - | - | -Joo3[ - [ -] - -[-[-1-1]-+-
BRI 10mg/f10mg/2] - [ - | - Kool - | - | - [ -] -[-|-1]-+-
poOLERE [2meg/2]2mee] - | - [ - [<002f - [ - - - -]1-1-1-
DT NEEY |o7vimen]s 7o ime] - - - |<01| - - - - - - - -
e ew | Img/e | img/e| - [ -] - [0 - [ -[ -] -[-1-1-1]-+-
Affi70LEE%]0.5mg/2]0.5mg/Q] - - - |<0.05] - - - - - - - -
VRRUZOEEM]0.1mg/2]0.1mg/Q) — - - [<0.01] - - - - - - - -
TEMEK TILXILIKER |muensoce|musnnnze] - - - |yl - - - - - - - -
IG5 Ik)miE o= [oo0sme/ofo00smere] = | - | - Jwows| - | - | - | - | - | - | - | -
REK Iypanzreofoime/efoime/e] - | - | - [<001] - | - | - | - | - | - | - | -
Tr3oeaTFLo|0Amg/Q0Img/Y - [ - | - K001 - | - | - [ - | - | - [ - -
2yaaxi3a 10.2mg/0]0.2mg/Q| - - - 002 - [ - [ - -] -1]-1] - -
migibx®E  Joozmg/efoo2me/g) - [ - [ - f<0002f - [ - [ - [ -[ - -] -1 -
1, 2-2988I4%2]0.04mg/2]0.04mg/2] - - - [<0.004] - - - - - - - -
1, 1-vyrazFLy] 1mg/2 | Img/2 | - - - [€0.02| - - - - - - - -
>2-1, 2-vyanxFLr | 0.4mg/2]0.4mg/2] - - - 1<0.04| - - - - - - - -
1,1, 1-byyaRzsy | 3mg/2 | 3mg/L | - - - [<03] - - - - - - - -
1,1, 2-k)oRAT4210.06mg/2]0.06mg/2] — - - [<0.006] - - - - - - - -
1, 3-2/0078X210.02mg/2]0.02mg/¢] - - - |<0.002 - - - - - - - -
Fro.s 0.06mg/2]0.06mg/Q] - - - |<0.006| - - - - - - - -
DE D 003mg/@f003meg/e] - | - | - [coo03] - [ - -1 -1 -1-1 - -
FARUAILT]0.2meg/2|02meg/0] - | - | - [<002] - [ - | - | - - | - | - -
Rty 0.1mg/2]0.1mg/2] - - - [<o0.01| - - - - - - - -
Lo RUEOEEM|0.1mg/2]0.1mg/2] - - - [<0.01| - - - - - - - -
TvERUZOMmIEE | 15mg/2| 15mg/2| - - - (<01 - - - - - - - -
moRRUzomitan | 50mg/2] 50mg/2| - - - 1013 - - - - - - - -
1, 4-O#AFH2]05mg/2]0.5mg/2] - - - |€0.05| - - - - - - - -
BERE 16mg/0f16mg/e| - | - | - Jot2| - [ -1 -1 -1-1-1-1 -
Lian “amm|ena| | | _fod | | oo 2] 2|
ggﬁ’ig%%&u 200mg/2]200mg/Q X
A 6858|7848 10A28 2818
S48 6A288|8H3H 108248 2A28H




